2006-2007 7TH GRADE CONTEST

Answers

29. What is the area of a semicircular region whose diameter is 167 |29.
A) 32n B) 64x C) 128n D) 256x

30. If 7(N) means the reciprocal of N, then r(r(2) + r(3) + r(4)) = 30.

2 3 1 1
A) 5 B) 2 Q) z D) = {

31. Cupid shot his arrow 10000 times. NI NS 31.
His success rate was v1%. How many B ogrd ¥
of Cupid’s shots were a success? R =
A)1 B) 10 C) 100 D) 1000

32. The largest factor of 10000 is : \ 32.
A)5 B) 1000 C) 5000 D) 10000 % \%

33. Today, 2 horses each chased 4 cows, each of which chased 8 pigs, 33.
each of which chased 16 chickens. No animal was chased by
animals. Altogether, how many animals took part in this chase?

A) 30 B) 512 C) 1024 D) 1098

34. If the measure of each interior angle of 9-sided })olygon Pisless |34.
than 180, then P has at most ?_different pairs of parallel sides.
A) 2 B) 3 C) 4 D) 8

35. Which cannot be the smallest of 5 consecutive in- 35.
tegers whose product is divisible by 2, 5, and 9?

A) 5 B) 4 C) 3 D) 2

36. Cory averaged 85 on fifteen tests. He got 36.
two 80s, five 85s, and three 90s. What is
the average of Cory’s other five tests?

A) 82 B) 84 C) 8 D) 86
37, 2007 . o _ 2006 37.
2006 ~ — 2007
2 2 2
A) 2007 B) 2006 C) 2%2006 D 1
) 0082 ) 07 ) o2 )
i 12345678 .42 38.

38. The least common denominator of Y5 VST 9,and 0 8
A) 10 B) 1260 C) 2520 D) 3628800

39. Of the first 999 positive integers, ? are primes or multiples of primes. | 39.
A) 1 B) 499 C) 998 D) 999

40. In the sum shown at the right, if R, S, T, and U RSTU 40.
represent digits, then R+S+T+U must equal +UTSR

A) 2X(R+S) B)2x(S+U) C)2x(T+U) D)2xT TTIT

The end of the contest &

Visit our Web site at http://www.mathleague.com
Solutions on Page 73 * Answers on Page 138
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2006-2007 Annual 7th Grade Contest

Tuesday, February 20 or 27, 2007 ’
Instructions

= Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

m Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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